DATA SHEET
Kidde CLAMPING BOLTS DS 01-8337-0100_0300

% Fire Protection FOR 128 SROWS

Drawn / Date App. by / Date Date of issue
MA 10/10/00 RK 12/06/01 12/06/19

19 A/F HEX
TORQUE 40-45Nm

WALL BRACKET

TYPE NO. WEIGHT

01-8337-0100 0.7 kg
01-8337-0200 1.2 kg
01-8337-0300 1.5kg

WALL BRACKET SEE: 01-8121/30-1000

TORQUE : Max. 55 Nm

MATERIAL :  STAINLESS STEEL AISI 304

1. M12 STAY BOLT : AISI 304

2. @30 WASHER WITH RECESS . AISI 304

3. M12 HEX. NUT (2 PCS.) . AISI 304

4. M12 PLATE NUT . STEEL P3010/M12 EL-GALVANIZED
5. M12 WASHER @30/13 x 3mm . AISI 304

6. M12 LOCK NUT . STEEL EL-GALVANIZED

sales@norrscope.com



mailto:sales@norrscope.com



